EBRAH - JORRA b S0F27 =% 0. 30128

£ Wi 1 2 3 4 5 6 Rk
162 mnEE IR— 1089 9 | 1 46 P
246  2H = 9 |10 8| 1|10 38 P
3t Hh #CE 10 | 2 10 922 P
45 AR FX 6 78 21 P
S RF 2 4 5| 8 3 20 P
6461 RER BL 8 5 | 4 17 P
11 RZ M5B 6 | 5| 3 3 17 P
861 WA # 7 7 14 P
96 AR FE¥FE 5 8 13P
10 £z O & 6 | 4 10P
1146 &R 8h 71 2 10 P
1245 & HER 10 10 P
13461  /RHF B=E 4| 6 10 P
144z ZFH # 9 9P
1541  RB& Jih 9 9P
1642 @A & 3 5 8 P
1746 &+ & 1 7 8 P
184z &L BAIE 3 5 8 P
1941 BAF Bk 7 7P
204z 1EE RX 6 6 P

JORRA 2 FEUOFHFRE A HIABEHEF (FEHD) (!
ORA Y DA

~z4a =10P 64 = 5P
g2t = OP HE7H = 4P
%3 = 8P H8fi = 3P
AR = 7P Lo = 2P

546 = 6P 106 = 1P

XABINRRRITOB/EEHI Y b3y (B2=2A2=B1=>A1) >FEip LA & HIEELH T
KERAS 2 FDOBEIXFR LELIC K DHIRBLA T



EBRAH - JORRA b S0F27 =% 0. 30128

£ I 1 2 3 4 5 6 Rk
2145 Al BR 2 4 6 P
2241  fERR # 6 6 P
24z HUN F— 4 4P
241 FEA EX 3 3P
2541  #K HERS 2 2P
26z  EIR ERER 2 2P
27 11 BEE EF 9 2P
2841 FEk O 1 1P
2945 =& %X 1 1P
16 /MR RF 8 | 7 /10| 2 | 9| 8 44 P
261  Z=fF AHC 9 | 10 71 3|10 39 P
3z RF X 6 509 |10 1 31 P
462 Ml =2 10 6 | 10 | 4 30 P
S #R ERF 1] 49 5| 9 28 P
641 fEH EF 4|9 7 20 P
T AF 3IPx 5| 5 3 3 16 P
841 @B ILEF 8 | 8 16 P
9 FB FF 5| 8 13P
1062 FBE @i 6 7 13 P
14z 28 FF 2 4 5 11P

JORRA 2 FEUOFHFRE A HIABEHEF (FEHD) (!
ORA Y DA

~z4a =10P 64 = 5P
g2t = OP HE7H = 4P
%3 = 8P H8fi = 3P
AR = 7P Lo = 2P

546 = 6P 106 = 1P

XABINRRRITOB/EEHI Y b3y (B2=2A2=B1=>A1) >FEip LA & HIEELH T
KERAS 2 FDOBEIXFR LELIC K DHIRBLA T



EBRAH - JORRA b S0F27 =% 0. 30128
2
8

£ Wi 1 3 4 5 6 RAVF
1245 E A 3 11P
13 iz XBM EF 3 6 9P
144 ED ERTF 2 6 8 P
15 & BF 4 1] 2 7P
164 WO 7 7P
176 H% BEF 7 7P
1841 ™M FEF 6 6 P
194 &K #BF 4 4P
20 {3z A Y 3 3P
21 {31 Sl BEF 2 2P
2241 EIB fF 2 2P
2341 FWU OEETF 1 1P
241 KR AETF 1 1P
2561  HiE EEF 1 1P

JORRA 2 FEUOFHFRE A HIABEHEF (FEHD) (!
ORA Y DA

Rz =10P E6fL = 5P
g2t = OP HE7H = 4P
£3f6z = 8P g8 = 3P
L4 = 7P Lo = 2P

54 = 6P gF10L = 1P

XABINRRRITOB/EEHI Y b3y (B2=2A2=B1=>A1) >FEip LA & HIEELH T
KERAS 2 FDOBEIXFR LELIC K DHIRBLA T



